
USEFUL PHRASES
 

Для описания людей и предметов используйте Present 
Simple

The spider is under the bed, it is not on the bed.
 The woman has got curly hair, the others have got straight hair.

 
Для описания действий используйте Present Continuous

The bird isn't flying, it is sitting in the tree.
 The boy isn't writing, he is listening to music.

 
* Не забывайте использовать BUT или BECAUSE 

 These are vegetables     but       this is a watermelon, it's not a 
vegatable, it's a fruit.

This picture is different    because     this is not a face, this is a foot.



чаще всего используются следующие фразы:
there is/are, this is/these are

There is a bear on the sofa, there are toys under the 
sofa.

There are children, they are at school. There 
are children, they are in the garden.

this is/these are
This is a fish, these are birds.

These are animals, this is a toy.
has got/have got

They have got blond hair, he has got dark hair.
is wearing/are wearing

They are wearing jeans, she is wearing a skirt.



Toothbrush, towel, bed, shower

Lion, dog, shark, bear
Jungle, ocean

Toothache, headache, stomachache,
 happy, sad

Milk, juice, lemonade, sandwich
Drink, eat

The first/second/third/fourth 
picture is different because

there is/are, this 
is/these are

this is/these are
has got/have got

is wearing/are wearing



Skirt, sweater, scarf, kangaroo, clothes, animal

Horse, dolphin, shark, whale, farm, ocean 

Tram, car, hospital, bus, travel

 Now look at these four pictures. One is different.  The book is different. 
A lemon, an orange and a pinapple are fruit. You eat them. You don't 
eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because

there is/are, this is/these are
this is/these are
has got/have got

is wearing/are wearing
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are all fruit. This isn't a fruit. It's a cake.
Now you tell me about these pictures. Which 
one is different? (Why?)
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is wearing/are wearing



Now look at these four pictures. This one is 
different. A banana, an orange and a pinapple are 
all fruit. This isn't a fruit. It's a cake.
Now you tell me about these pictures. Which one is 
different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. This one is different. A 
banana, an orange and a pinapple are all fruit. This isn't a fruit. 
It's a cake.
Now you tell me about these pictures. Which one is different? 
(Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. One is different.  The book is different. A 
lemon, an orange and a pinapple are fruit. You eat them. You don't eat a 
book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. One is different.  The book is different. A 
lemon, an orange and a pinapple are fruit. You eat them. You don't eat a 
book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. One is different.  The book is different. A lemon, an 
orange and a pinapple are fruit. You eat them. You don't eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. One is different.  The book is different. A lemon, 
an orange and a pinapple are fruit. You eat them. You don't eat a book. You read 
it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. One is different.  The book is different. A lemon, 
an orange and a pinapple are fruit. You eat them. You don't eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. One is different.  The book is different. A 
lemon, an orange and a pinapple are fruit. You eat them. You don't eat a 
book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. This one is different. A lemon, an orange and a 
pinapple are all fruit. This isn't a fruit. It's a book.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. This one is different. A lemon, an 
orange and a pinapple are all fruit. This isn't a fruit. It's a book.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. This one is different. A 
lemon, an orange and a pinapple are all fruit. This isn't a fruit. 
It's a book.
Now you tell me about these pictures. Which one is different? 
(Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. One is different.  The book is different. A lemon, 
an orange and a pinapple are fruit. You eat them. You don't eat a book. You read 
it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. One is different.  The book is different. A lemon, an 
orange and a pinapple are fruit. You eat them. You don't eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



 Now look at these four pictures. One is different.  The book is different. A lemon, 
an orange and a pinapple are fruit. You eat them. You don't eat a book. You read 
it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



 Now look at these four pictures. One is different.  The book is 
different. A lemon, an orange and a pinapple are fruit. You eat 
them. You don't eat a book. You read it.
Now you tell me about these pictures. Which one is different? 
(Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



Now look at these four pictures. One is different.  The book is different. A lemon, an orange 
and a pinapple are fruit. You eat them. You don't eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



 Now look at these four pictures. One is different.  The book is different. 
A lemon, an orange and a pinapple are fruit. You eat them. You don't 
eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



 Now look at these four pictures. One is different.  The book is different. 
A lemon, an orange and a pinapple are fruit. You eat them. You don't 
eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



 Now look at these four pictures. One is different.  The book is different. 
A lemon, an orange and a pinapple are fruit. You eat them. You don't 
eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



 Now look at these four pictures. One is different.  The book is different. 
A lemon, an orange and a pinapple are fruit. You eat them. You don't 
eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



 Now look at these four pictures. One is different.  The book is different. 
A lemon, an orange and a pinapple are fruit. You eat them. You don't 
eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



 Now look at these four pictures. One is different.  The book is different. 
A lemon, an orange and a pinapple are fruit. You eat them. You don't 
eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing



 Now look at these four pictures. One is different.  The book is different. 
A lemon, an orange and a pinapple are fruit. You eat them. You don't 
eat a book. You read it.
Now you tell me about these pictures. Which one is different? (Why?)

The first/second/third/fourth 
picture is different because
there is/are, this is/these are

this is/these are
has got/have got

is wearing/are wearing


